ERSARER I 35,5003 ea,d Lo [l kel D s - olwd) LW

) et dlaa) 4N B0 39 90w - dwed
by psle Ly PETL W) aud 2014/12/23 : @J@2h30 2015/2014 : dc) ) L)

(3><\'_)1=\'_)3 ): Jj:}T\ dﬂ\

PO 5 3JE T e D00l Ao Jpud ue

T B 1
e |=}o,2[ 00 = tan (et

1
x(1+ n?(x)
2014

=R , f(x)=e"(1+2¢*)" @
(3x =030t W) -y ye)
- N(X)=(n(2+/3) = IN(2-3) +N(7-443) =3 N 3y 8 x oo i oy (1
N .
m?x=U-r(nlx-1=0, : DWW R 33> (2

|=]0;+oo[ Cf(x)= (1]

1 1
im xz(ex—exﬂ) DAY el (3

X—>+00
(6) 1 W) - el

.(Wﬂé\ﬂ#@m&&&:n

N
2
2 \
fn(x):(x+g)eX ; x>0 e )
n : 52 @0 oo 1 e B yal) Joan f 2000
f (0)=0
(<= 05) 0 \_}M\\;;éww&w f i1
(1) 4 [0oo] JB1 e f 03 ol s yo1 — 2
(). 0+ P _32 a, 103 M 15 fn(x):% Dol , N e 0, oiow.1-3
\ N * 2 2 .
(< 0.5) (vx>=0)(VneN") f (x)———>f (x)—=: _im—
n+1 n
(<d) a=lima, a2 (a,) , < on @ Aeddls (@), Aol ) —
2
(1) (VneN') :na =2 -2 : _imm—0o
(= 1) ca=0:iomeos

Gsm 0664865556




(\;8):@\}\\;}&@\

1 Sl 5l e ) Lands e 10Ue - SO

n(x)

f (X)=x-n-n
X

L 0500 Jd e A ,al) f Loua D10

g, (x) =x*—n+n.tn(x) to 0o JB) e 26 ,al g, Doval D)) e — |

(<= 05) - Limg, (x) 5 4img, (x) i (1
(- 05) S0, A0 CalEs ol (2
(<= 05) - 15a,<3 e @, 1o M U gr(x) =04 0wl i o (3
(= 1) - 0se,[ s e, +oe] J«J\é\&x\; g, (x) 5y wei (4
(<= 05) . !Lrpfn(x) o0 limf (%) e (11

9,(x)

(= 025) - (wxe]oy+e]): £, ()= -

:\'jgg(z

N

(< 0.25) ) .fn(ozn):—n(1+iJ+205n <l 3t (3
a

n

(<= 05) o f D0 s J v el (4
(< 05). +0 i35 (€ ) _goval Wle glialy =X —N: 20wl 30 (D,) paized) i 0 (5

(= 025) ' (Dn) paitad) (Cfn) sl g t‘b}”u—uo‘(6

AN

In x
. h(x)=1+— 0; +oo| Jud 25,2l D Sboda) 1A s (7
& hix) x = J0;+00] i1 _ge 2,20 h 4 A= (

(< 0500 0<L21 as f 10 s N 10;+o0[ Jiy _ ge g h(X) =0 Dol i 0w -

(= 025) CE(B)=f o
(5 0.5) : A;gcmw,f(cfn)g;w»@z\-_jows
(<= 0.5) .(wa);(Cfn)wat;@s\dwo\&

1) . (sz) j(Cfl) alall e B Wlae Jie o5 L2=< @, <13 5, =1 i o (10




